NOTICE DE MONTAGE - INSTALLATION INSTRUCTIONS

a AAK Sabot moteur Trail Royal Enfield 650 Interceptor / Continental GT

Trail engine protection Royal Enfield 650 Interceptor / Continental GT

Difficulté - Difficulty 1/5

Outils nécessaires - Tools required for assembly

+ Clefs 6 pans - Clef 13mm « Allen keys - wrench key 13mm

Procédure - Proccess

Installer la platine support sur le moteur avec la vis M8x35, I'écrou M8 et une rondelle (c6té écrou). Serrer correc-
tement, en prenant soin de garder la plaque paralléle au moteur.

Install the mounting bracket with M8x35 screw, M8 nut and the washer (nut side). Tighten properly and keep the
bracket parallel with the motor.

Installer les 2 colliers de fixation sur le cadre.

Install the fixation collars on the frame.

Merci d'avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts
COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RESERVES | COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED



Visser sans serrer le sabot sur la platine avec 2 vis M8x20 + rondelle.
Screw without tighten the protection plate on the bracket with 2 screws M8x20 + washers.

Faire de méme avec les vis de colliers de fixation. M6x20 + rondelle.
Do the same with the fixation collars screws. M6x20 + washer.

You can now tighten the 4 screws, take care everythings are properly positioned.

Vis M8x35 BHC
Screw M8x35 BHC

Platine support RE.0054-02
Mounting bracket RE.0054-02

Rondelle M8
Washer M8

Ecrou M8
Nut M8

2 x Collier escargot
2 x Fixation collar

2 x Rondelle M8
2 x Washer M8

2 x Vis M8x20
2 x Screw M8x20

Sabot RE.0054-01
Protection plate RE.0054-01

2 x Rondelle Mé
2 x Washer Mé

2 x Vis Méx20
2 x Screw Mé6x20

Merci d'avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts

COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RESERVES | COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED




